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11 A2z AkO—)L 1.1E+2 107.1
122 |7OEH=sR 56E+1| 3.9E+0 1.2E+3 1,300.0
125 [ZILRILD 7R 1.1E+2 1125
126 [N Iz v
129 [y & t-(FDCMU 91E+1| 1.7E+1 24E+4| 1.0E+3 25,150.0
130 [V=2m> 1.6E+0| 5.0E+1 51.5
131 |2,4-DFE=1%2,4-PA 2.1E+1 1.4E+2 1.1E+2 266.5
137 [D-D 3.2E+5 319,007.8
141 |[ESV XLz
142 |ESYL—k 1.9E+2 192.0
143 |9 OA~R= )L F1=IEDBN 7.7E-1| 1.5E-1 4.8E+1 1.1E+4|  6.1E+2 11,251.9
146 |CFT7 /> 1.3E+2| 1.3E+1 139.0
147 |4 7OoF45> 2.4E+1 24.0
148 | T T 47z RRFET=(LEDDP 4.3E+1 425
151 |[TFIVLFA AR EIF D RILRRY 2.1E+3 1.3E+0 49E+0| 4.9E+2 2,559.0
152 |"Ryra> 2.6E+0| 3.7E+1 40.0
153 | FaFAHRR 36E+1| 3.2E+1| 55E-2| 24E-2 1.8E-1| 1.8E+1 86.0
154 |AFH FA 2 EI=[IDMTP 14E+3| 5.0E+1 1,460.0
155 |V FIEISF4 8.4E+0| 15E+2| 8.3E+2 989.0
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